SUZUKI.

Contents

Contenu

Contenido

ARRARITY

TTepiexouevo

INSTALLATION INSTRUCTIONS
MONTAGEANLEITUNG
INSUCTION DE MONTAGE

MANUALE DI INSTALLAZIONE
INSTRUCCIONES DE MONTAJE

OAHIEZ ZYNAPMOAOIMHZHX

Description:

Towbar Wiring kit 7P

Applications:

SX4 (JY) LHD

Installation Time:

1.00h

Partnumber:

990E0-61M64-000

Beschreibung:

Elektrosatz 7P

Verwendung:

SX4 (JY) LHD

Montagezeit:

1.00h

Teile Nr.:

990E0-61M64-000

Designation:

Faisceau d'Attelage 7P

Utilisation:

SX4 (JY) LHD

Temps pose:

1.00h

Descrizione:

Cablaggio per gancio da traino 7P

Applicazioni:

SX4 (JY) LHD

Tempo di installazione:

1.00h

Numero di codice:

990E0-61M64-000

Descripcién:

Kit eléctrico de enganche 7P

Aplicaciones:

SX&4 (JY) LHD

Tiempo de montaje:

1.00h

Referencia del articulo:

990E0-61M64-000

TTeprypagn: ZeT kaAwdicv unapas pupouAknons 7P

Epapuoyn:

SX& (JY) LHD

Xpovos eyKaTaoTaons:

1.00h

n° de piece: 990E0-61M64-000 Ap1Buos eEapTnUaTOS: 990E0-61M64-000
Ref Description QTY Ref Description QTY
1 Wiring harness 8 Plug housing 3P 1
2 Socket 9 Velcro 2
3 Socket seal 0 Sticky foam pads 3
4 Module 1 Cable-tie 100mm 5
5 Fusetap 2 Cable-tie 300mm 10
6 Adapter 1
7 Bolt M5x35, Washer, Nut M5 3
Bez Beschreibung STK Bez Beschreibung STK
1 Kabelbaum 8 Steckergehduse 3P 1
2 Steckdose 9 Pilzkopfband 2
3 Steckdosendichtung 0 lebepads 3
A Modul 1 abelbinder 100mm 10
5 Fusetap 2 abelbinder 300mm 5
6 Adapter
7 Scth)aube M5x35, Zahnscheibe, Mutter M5
Réf Designation QTE Réf Designation QTE
1 Faisceau de cables 8 Boitier de la fiche 3P 1
2 Prise 9 Fermeture velcro 2
3 Couvercle 0 Rondelle ressort 3
4 oitier 1 Laniere 100mm 10
5 Fusetap 2 Laniere 300mm 5
6 Adapteur
7 Vis M5x35, Disque, Ecrou M5 3
Rif Descrizione QTA Rif Descrizione QTA
1 Cablaggio 8 Custodia del connettore 1
2 Presa 9 astro velcro 2
3 Piastra porta presa 0 Rondella elastica 3
4 Modulo 1 Fascette per cablaggio 100mm 10
5 Fusetap 2 Fascette per cablaggio 300mm 5
6 Adattatore
7 Bullone M5x35, Puleggia, Dado M5 3
Referencia Descripcion CANT Referencia Descripcién CANT
1 Haz de cables 8 Carcasa algo 3P 1
2 Enchufe 9 Espuma velcro 2
3 Tapa del enchufe 0 Arandela eléstica 3
A Médulo 1 Abrazadera de cables 100mm 10
5 Fusetap 2 Abrazadera de cables 300mm 5
6 Adaptador
7 Tornillo M5x35, Arandela, Tuerca M5 3
Tapanourm  Tleprypagy ModotnTa Mapanounr  Tleprypaor TMoSémTa
1 [MAeEouda kaAwdicov 8 Mep1BAfuaTos Tou RUcuaTos 3P 1
2 eulaTodOTNS 9 Agpds 2
3 KaTéki pevpatodoTns 10 PodeAa eAathpio 3
4 Movada 11 Acopds kakwdiou 100mm 10
5 Yépupa acpaAeia 12 Aeopds kaAwdiov 300mm 5
6 TIpocaplioyéag
7 MrouhoviM5x35, TTepikdxAio M5 3

SUZUKI GENUINE ACCESSORIES

87240621

10.07.2013



TELEPITESI UTASITASOK

s SUZUKI® MONTAZ INSTRUKCIJA

MONTERING INSTRUCTIONER
INSTALLATIE INSTRUCTIES

Elektrosaet 7P

Leiras: Elektromos készlet 7P Beskrivelse:
Szerelés id6pontja: SX4 (JY) LHD Montagetid: SX4 (JY) LHD
Felhasznalas: 1.00h Anvendelse: 1.00h
Alkatrész-sz.: 990E0-61M64-000 Delnummer: 990E0-61M64-000
Opis: Zestaw elektryczny 7P Omschrijving: Elektroset 7P
Czas montazu: SX4 (JY) LHD Gebruik: SX4 (JY) LHD
Zastosowanie: 1.00h Montageduur: 1.00h
Nr czesci: 990E0-61M64-000 Onderdeelnr: 990E0-61M64-000
Meg Description db Meg Description db
Tartalom 1 abelkoteg 8 Csatlakoz6haz 3 1
2 Dugaszolé aljzat 9 Gombafej pant 2
3 Dugaszol aljzat tomitése 0 Ragasztdpdarna 3
4 Modul 1 4belk6t6z6 100mm 5
5 Fusetap 2 Cable-tie 300mm 10
6 Adapter
7 Bolt M5x35, Washer, Nut M5 3
Py okr Beschreibun szt okr Beschreibun szt
Zawartosc¢ 1 Wiazka p@v%déw 8 Obudowa wtyczki 3P 1
2 Gniazdo wtykowe 9 Tasma rzepowa 2
3 Uszczelka gniazda wtykowego 0 Podkladki klejace 3
A Modul 1 Zlaczka przewodu 100mm 10
5 Fusetap 2 Zlaczka przewodu 300mm 5
6 Adapter
7 Sruba M5x35, Podkladka zebata, Nakretka M5
bet Designation STK bet Designation STK
1 Kabelledningsseet 8 Stikkabinet 3P 1
2 Stikkontakt 9 Svampeband 2
3 Teetning til stikkontakt 0 Kleebepuder 3
A Boitier 1 Kabelbinder 100mm 10
5 Fusetap 2 Kabelbinder 300mm 5
6 Adapteren
7 Skrue M5x35, Tandskive, Mgtrik M5 3
ben Descrizione STK ben Descrizione STK
1 Kabelboom 8 Stekkerhuis 3P 1
2 Stopcontact 9 Mushroom-klittenband 2
3 Afdichting stopcontact 0 Lijm-pads 3
A Module 1 Kabelbinders 100mm 10
5 Fusetap 2 Kabelbinders 300mm 5
6 Adapter
7 Schroef M5x35, Tandschijf, Moer M5 3

SUZUKI GENUINE ACCESSORIES

87240621 2 10.07.2013




Tools
Required

Notwendige
Werkzeuge

Outils .
Nécessaire

Attrezatura
Richiesta

Hermani_entas
Necesarias

AtapaitnTta
epyaleia

Szukséges

Eszkdzoket

Potrzebne
Narzedzia

Ngdvendige
Vaerktgjer

Nodig
Gereedschap

Preparation
before Installation

Vorbereitungen
vor der Montage

Préparatifs avant
le montage

Preparativi per il
montaggio

Preparacion
para instalacion

TTpoeTowacia yia
EYKATACTACT)

R —=

"" X

1. Park the vehicle in a safe spot with applying parking brake and keep the ignition key removed before
installation.

2. Be sure not to damage any vehicle parts.

3. Check that all the parts are contained in the kit as shown in contents section.

1. Stellen Sie das Fahrzeug vor der Montage mit angezogener Handbremse und abgezogenem
Ziindschliissel an einem sicheren Ort ab.

2. Achten Sie darauf, dal3 Sie keine Fahrzeugteile beschadigen.

3. Vergewissern Sie sich, dall der Bausatz samtliche Teile enthalt, welche im Abschnitt "Inhalt"
abgebildet sind.

1. Avant le montage, garez le véhicule en lieu sir avec le frein a main serré et retirez la cléde contact.
2. Veillez a ne pas endommager des parties du véhicule. . _
3. Assurez-vous que le kit comprenne bien I'ensemble des pieces représentées a la section «Contenu»

1. Prima di procedere al montaggio, collocare il veicolo in una posizione sicura, con il freno
distazionamento innestato e senza chiave di accensione.

2. Prestate attenzione in modo da non danneggiare parti del veicolo.

3. Accertatevi che il Kit di montaggio contenga tutti i pezzi che sono illustrati nel paragrafo,Contenuto”

1. Antes de proceder al montaje de la rejilla, estacione el vehiculo en un lugar seguro con el freno
de mano echado yla llave de encendido desconectada.
2. Tenga cuidado de no dafar ninguna de las piezas del vehiculo.
3. Aseglrese de que el juego de montaje incluya todas las piezas reproducidas en el apartado“contenido”.

1. ZTabusioTe To OXnua TPW TN GUVapPHOAGyNon ot acpalés uépos . TpaPETE TO XEIPOPEVO Kal
kAeldi aTmo T piga.
2. TIpooE€ETe va LNV KATACTPEPTE KAVEVX EEAPTTUA TOU OXTHATOS.
3. BePaicobeite 0TI To O&T TEPIEXEl OAQ Ta EEAPTIUATA TO OTOIX GTEIKOVITOVTAL GTNY EVOTITA “ﬂeplexéu.

SUZUKI GENUINE ACCESSORIES

87240621

3 10.07.2013



Elskésziiletek L
telepités el6tt 2.

Przygotowanie do L
instalacji

W N

Forberedelser L
fgr installation

w N

Voorbereidingen L
voor de Montage

IMPORTANT

WICHTIG

IMPORTANT

Szerelés el6tt a jdrmlvet behuzott kézifékkel és gyujtaskulcs nélkul allitsa le egy biztonsagos helyen.

Ugyeljen arra, hogy a jarmi részei ne sériiljenek meg.

3. Gy6z06djon meg arrol, hogy a garnitura minden, a "Tartalom" szakaszban abrazolt elemet tartalmaz.

Przed montazem ustawic pojazd z zaciagnietym hamulcem recznym i wyjetym kluczykiem w

bezpiecznym miejscu.

. Nalezy uwazac, aby nie uszkodzic zadnej czesci pojazdu.
. Prosze sie upewnic¢ ze zestaw montazowy zawiera wszystkie czesci przedstawione w rozdziale “TreSc”.

Parkér inden montagen kgretgjet med trukket hdndbremse og udtrukket taendingsnggle pa

et sikkert sted.

. Pas p3, ikke at beskadige kgretgjsdele.
. Kontrollér, at byggeseettet indeholder alle de dele, som der er vist i afsnit "Indhold".

Parkeer het voertuig voor de montage met aangetrokken handrem en verwijderde contactsleutel

op een veilige plaats.

. Let erop dat u geen auto-onderdelen beschadigt.
. Overtuigt u er zich van dat het bouwpakket alle onderdelen bevat die in de paragraaf “inhoud”

afgebeeld zijn.

/\ WARNING / CAUTION / NOTE:

Please read this manual and follow its instruction carefully.
To emphasize special information, the symbol

A and the words WARNING, CAUTION and NOTE have
special meanings. These special meanings apply except
when laws or regulations require that the signal words be
used with a different meaning. Pay special attention to the
message highlighted by these signal words!

/\ WARNUNG / ACHTUNG / ANMERKUNG:
Bitte lesen Sie das Handbuch sorgfaltig durch und
befolgen Sie die Anweisyngen. Wichtige Informationen
sind mit dem Symbol WARNUNG, ACHTUNG und
ANMERKUNG besonders gekennzeichnet.

Diese speziellen Bedeutungen sind stets anzuwenden,
es sei denn, dass in einem Gesetz oder einer Vorschrift
beziiglich dieser Hinweisbegriffe eine abweichende
Bedeutung festgelegt ist.

Die so hervorgehobenen Informationen sind besonders
zu beachten!

/\ AVERTISSEMENT / ATTENTION / REMARQUE:
Priere de lire attentivement le manuel et conformez-
vous aux instructions. Les informations importantes
sont précédées des symboles /A AVERTISSEMENT,
ATTENTION et REMARQUE. Ces significations spéciales
s'appliquent, sauf dans le cas ol une autre signification
est déterminée dans une loi ou une prescription.

Les informations mises en relief de la sorte doivent étre
respecté es scrupuleusement.

A WARNING

Indicates potential hazard that could
result in death or injury.

CAUTION

Indicates potential hazard that could
result in vehicle damage.

NOTE: Indicates special information to make
maintenance easier or instruction clearer.

A WARNUNG

Weist auf mogliche Gefahren hin,
die zu Verletzungen fiihren kdnnen!

ACHTUNG

Weist auf mogliche Gefahren hin, die
zu Schaden am Fahrzeug fiihren!

ANMERKUNG: Die so gekennzeichneten
Informationen sollen die Wartung erleichtern
und die Anweisungen erldutern.

A\ AVERTISSEMENT

Attire I attention sur des dangers potentiels
présentant des risquesde blessures ou
pouvant entrainer des accidents mortels!

ATTENTION

Attire I" attention sur des dangers
potentiels pouvant entrainer des
détériorations du véhicule!

REMARQUE: Les informations précédées de
ces symboles sont censées faciliter le montage
et expliciter les instructions.

SUZUKI GENUINE ACCESSORIES

87240621

10.07.2013



IMPORTANTE

IMPORTANTE

>HMANTIK'O

FONTOS

/\ AVVERTIMENTO / ATTENZIONE / NOTA:

Si prega di leggere attentamente il manuale e seguire
scrupolosamente le istruzioni indicate. Le informazioni
pil importanti sono contraddistinte in maniera evidente
dai simboli /A AVVERTIMENTO ATTENZIONE e NOTA.
Questi speciali significati sono validi tranne nel caso in
cui leggi o regolamentazioni prevedano un significato
diverso delle parole segnale. Le informazioni cosi
contraddistinte vanno applicate scrupolosamente.

/\ ADVERTENCIA / ATENTION / NOTA:

Lea el manual en sy totalidad y siga sus instrucciones.Los
signos especiales /A ADVERTENCIA, ATENCION y NOTA
preceden a informacion de caracter importante.Lo
identificado con estos signos debe aplicarse en todoslos
casos, a menos de haberse sefalado otra cosa enrelacion
con su significado en una normativa u otro tipode
reglamentacién.jPdngase especial cuidado en respetar
la informacidnidentificada de este modo!

A TIPOEIAOTIO'IHZH/ TIPOZOX'H /
SHMETQZH:

MapakaAd SiaPaocTe To avd xeipas ey xelpidio kat
akoAoubBeioTe Tis 0dnYyies TOU TTPOOEKTIKA.
TTpoxkeipévou va Bwbel Eupacr ot OUAVTIKES
mAnpogopies, To aUpBoro A\ kai ot Aéeis
TIPOEIAOTIO'IHZH ., TTIPOZOX'H ko ZHMETQZH
¢xouv 1BlaiTepes onuaoies. AuTEs ot 1I8laiTepes
ONUAGCIES IOXVUOUV TTAVTA EKOS QTTO TIG TIEPITITCICELS
KATA Tis oTroles ol vopoBeoies 1) ot kavoviouol
ATTAITOUV Ol TTPOEISOTIONTIKES AECEls va
XPNOILOTTOIOUVTAL HE SIAPOPETIKO TPOTIO.

Ac>oTe BlaiTepn TPOCOXT| OTO UNVULA TTOU
akoAoubei auTes Tis TpoeldoToinTikes Agels.

/\ FIGYELMEZTETES / FIGYELEM / MEGJEGYZES:
Kérjik, figyelmesen olvassa végig a kézikdonyvet és
tartsabe az utasitdsokat. A fontos informéaciokat a
FIGYELMEZTETES, FIGYELEM ¢ MEGJEGYZES
szimbdélummal kiemelten jeldltiik.Ezeket a specialis
jelentéseket mindig alkalmazni kell, kivéve, ha torvény
vagy el@iras a tajékoztato fogalmakvonatkozasaban
eltéro jelentést hataroz meg. Az igy kiemelt informaciokat
kiemelten szem elott kelltartani!

A AVVERTIMENTO

Questo simbolo sta ad indicare eventuali
possibili pericoli che potrebbero
causare lesioni o morte

ATTENZIONE

Questo simbolo sta ad indicare eventuali
possibili pericoli che potrebbero
causare danni alla vettura

NOTA: Les iinformazioni cosi contraddistinte
facilitano il montaggio e rendono pit
compresibili le istruzioni.

A Con ADVERTENCIA

Se seialan posibles riesgos que
puedentener lesiones como
consecuencia.

Se senalan posibles riesgos que puedenser
causa de daios para el vehiculo.

Con NOTA: Se indican informacion y datosque
facilitaran el mantenimiento ycontribuiran a
aclarar las instrucciones.

A TIPOEIAOTIO'IHZH

Snuaivel evBexOUEVO KivBuvo TTou UTTopEi
va éxel ws amoTéAeopa Tov BdvaTo 1
TOV TPAUUATIOUO.

Snualvel evdexOUeEVo KivBuvo TTou HTTopEl
va exel ws amoTeAeopa PA&Rn oTo dxnua.

SHMETQ>H: AxkolouBouv onuavTikés
TANPOPOpPIES TTPOKEIMEVOU VA YiVEL EUKOAOTEPQ
T CUVTTPNON T} VA BIEUKPIVIOTOUV o1 odTYies.

Potencialisan veszélyes helyzetre
utal,ami sériilést okozhat!

Potencialisan veszélyes helylz’etreutal, ami
kart okozhat a jarmiiben!

87240621

MEGJEGYZES: Az igy jelolt informdciok
akarbantartds megkdnnyitését
hivatottakszolgélni és magyarazatot adnak
azutasitasokhoz.

SUZUKI GENUINE ACCESSORIES

10.07.2013



WAZNE

VIGTIGT

BELANGRIJK

/N OSTRZEZENIE / UWAGA / INFORMACJA:

Prosze dokladnie zapoznac sie z podrecznikiem i
postepowac zgodnie z instrukcjami. Wazne informacje
oznaczono symbolem Z\ OSTRZEZENIE, UWAGA i
INFORMACIJA. Informacje specjalne nalezy zawsze
stosowac, chyba ze przepis lub ustawa przypisuja tym
pojeciom inne znaczenie. Nalezy w szczegdlnosci
przestrzegac w ten sposéb oznaczonych informacji!

/N\ ADVARSEL / OBS / BEMARKNING:

Laes handbogen grundigt igennem, og fglg anvisningerne.
Vigtige informationer er specielt kendetegnet med symbol
/N ADVARSEL, OBS og BEMARKNING. Disse specielle
betydninger skal altid anvendes, undtagen, hvis der i en
lov eller bestemmelse er fastlagten anden betydning
vedrgrende disse begreber. Man skal veere specielt
opmeaerksom pa séledesfremhaevede informationer!

/\ WAARSCHUWING / LET OP / OPMERKING:

Lees het handboek zorgvuldig door en volg de
instructiesop. Belangrijke informatie is speciaal
gemarkeerd methet symbool WAARSCHUWING ,
LET OP en OPMERKING. Deze speciale inhouden dienen
altijd teworden toegepast, tenzij in een wet of een
voorschriftmet betrekking tot deze begrippen een
afwijkendebetekenis is vastgelegd.

De aldus geaccentueerde informatie dient goed in achtte
worden genomen!

87240621

A OSTRZEZENIE

Wskazuje na mozliwe zagrozenia, ktore
moga prowadzi¢ do obrazen!

Wskazuje na mozliwe zagrozenia, ktére
moga prowadzi¢ do uszkodzenia pojazdu!

INFORMACJA:
W ten sposéb oznaczone informacje powinny
ulatwiac¢ konserwacje i objasniac instrukcje.

A ADVARSEL

De informerer om mulige farer, som kan
medfgre kvaestelser!

De informerer om mulige farer,som kan
medfgre skader pa kgretgjet!

BEMARKNING:
De séledes kendetegnedeinformationer skal
lette vedligeholdelsen ogforklare anvisninger.

A WAARSCHUWING

Duidt op mogelijke gevaren,
dieverwondingen tot gevolg kunnen
hebben!

LET OP

Duidt op mogelijke gevaren, die totschade
aan het voertuig kunnen leiden!

OPMERKING:
De aldus gemarkeerdeinformatie dient het
onderhoud tevergemakkelijken en de instructies
toe telichten.

SUZUKI GENUINE ACCESSORIES

10.07.2013



- To avoid getting burned, do not touch the engine, radiator and exhaust system until they have cooled.

- Before installation, be sure to disconnect the negative battery cable. Make sure that the disconnected
negative battery cable does not come into contact with the positive battery cable.

- Do not overload circuits; the maximum loads per connection are detailed in this manual

- When connecting the vehicle harness, make sure that the connectors are firmly locked in place.

- Claims due to inexpert use, maitenance and/or installation, will not be accepted.

ACHTUNG

- Zum Schutz vor Verbrennungen beriihren Sie nicht den Motor, den Kiihler und die Auspuffanlage, bis sich diese abgekiihlt haben.
- Achten Sie darauf, dass Sie vor der Installation das negative Batteriekabel abtrennen und dass dieses nicht mit dem positiven
Batteriekabel in Kontakt kommt.
- Uberlasten Sie nicht die Schaltkreise. Die Hochstbelastungen pro Anschluss sind in dieser Anleitung spezifiziert.
- Vergewissern Sie sich beim Anschluss von Fahrzeug-Kabelbaum, dass die Anschliisse ordentlich befestigt sind.
- Reklamationen und Anspriiche aufgrund unsachgemaRer Nutzung,
Wartung und/oder Installation werden nicht akzeptiert.

ATTENTION

- Pour éviter de vous brller, ne touchez pas le moteur, le radiateur ou le systeme d"échappement avant leur refroidissement.
- Avant l'installation, assurez-vous de déconnecter la cosse negative de la batterie. Assurez-vous que la cosse négative déconnectée de la
batterie ne puisse se trouver en contact avec le cable positif de la batterie.
- Ne surchargez pas les circuits ; les puissances maximales par connexion sont détaillées dans ce manuel.
- Lorsque vous connectez le faisceau du véhicule, assurez-vous que les connecteurs sont fermement
blogués en place.
- Des réclamations suite a une utilisation, entretien et/ou installation non habile, ne seront pas acceptées.

ATTENZIONE

- Per evitare bruciature, non toccare il motore, il radiatore e il sistema di scarico fintanto che non si sono raffreddati.

- Prima dell’installazione, assicurarsi di scollegare il cavo negativo della batteria. Assicurarsi che il cavo negativo della batteria
scollegato non venga in contatto con il cavo positivo della batteria.

- Non sovraccaricare i circuiti; i carichi massimi per ogni connessione sono riportati in dettaglio nel presente manuale.

- Nel collegare il cablaggio del veicolo, assicurarsi che i connettori siano saldamente fissati in posizione.

- Non saranno accettati reclami dovuti a uso, manutenzione e/o installazione effettuati da personale
inesperto.

ATENCION

- Para evitar quemaduras, no toque el motor, el radiador o el sistema de escape hasta que se éstos se hayan enfriado.
- Antes de proceder a la instalacion, cerciérese de desconectar el cable negativo de la bateria. Asegulrese de que el
cable negativo de la bateria desconectado no entre en contacto con el cable positivo de la bateria.
- No sobrecargue los circuitos. Las cargas maximas por conexién son detalladas en este manual.
- Al conectar el haz de cables del vehiculo, cercidrese de que los conectores estén firmemente acoplados.
- No se aceptardn reclamaciones por desperfectos o fallos debidos al uso, mantenimiento y/o
instalacion incorrectos.

TTIPOZOX'H

* TTpokeIHEVOU VO TTOPUYETE TO EVBEXOUEVO EYKAUUATOS, MNV aYYIiEeTe TN Unxavr], To Wuyeio Kai Tnv
eEaTHIoN HEXPL va WuxBouv.

- TTpw amd Ty eykaTtaotaon , PePaiwbeite OTI Exel aToouvdEcel To apvnTiko kKaAwdlo uratapias.
BeBaicwbeite 6T1 To amoovdedenévo apunTikd kaAwdio umaTtapias dev epxeTal ot ema@rn To BeTikd
kaAwdio umaTtapias.

- Mnv utteppopToveTe Ta kukAcpaTta. Ta LEyloTa popTia ava oUdeon avapepovTal AETTTOUEPLIS OTO aQvd
XElpas ey xepidio.

- Otav ouvdéeTe TN eEapTuon Tou oxnuaTos , BePatwbeite 6T1 o1 cuvdéoels aocpaAifovtal oTabepd oTn
Béon Tous.

- AE160EIs AdY O aQuaproscTns XPNOT)s CUVTTPOTS KAy eykaTaoTaons 8ev fa yivouv SexTés.

SUZUKI GENUINE ACCESSORIES

87240621 7 10.07.2013




- Egési sériilések elleni védelem érdekében ne érintse meg a motort, a hiitot és a kipufogd berendezést, amig azok nem hiiltek le.

- Ugyeljen arra, hogy a beszerelés eldtt levalassza az akkumulator negativ kdbelét, és hogy az ne érintkezzen az akkumulétor pozitiv kabelével.
- Ne terhelje tul a kapcsoldasi koroket. Ebben az utmutatoban taldlhaté az egyes csatlakozdsok maximalis terhelése.

- A gépjarmi kabelkotegének csatlakozdsakor gy6zddjon meg arrél, hogy szabdlyszerien vannak rogzitve a csatlakozésok.

- Szakszer(tlen haszndlatbdl, karbantartdsbdl és/vagy beszerelésbol eredd reklaméciokat és igényeket nem vesziink figyelembe.

- Aby unikna¢ poparzen nie wolno dotykac silnika, chlodnicy i ukladu wydechowego, zanim nie ochlodz sie.

- Zwracac uwage, aby przed instalacja odlaczy¢ ujemny zacisk akumulatora i uwazac, aby nie zetknal sie z dodatnim zaciskiem akumulatora.
- Nie przeciaza¢ obwodoéw przelaczania. Obciazenia maksymalne kazdego przylacza sprecyzowano w niniejszej instrukcji.

- Podczas podlaczania wiazki przewodéw samochodowych upewni¢ sie, ze przylacza sa prawidlowo umocowane.

- Reklamacje i roszczenia wynikajace z nieprawidlowego uzytkowania, konserwacji i/lub instalacji nie beda akceptowane.

- Rgr ikke ved motoren, kgleren eller udstgdningsanlaegget fgr disse er afkglet. Ellers risiko for forbraendinger.

- Husk at frakoble det negative batterikabel fgr installationen og sgrg for, at det ikke kommer i kontakt med det positive batterikabel.
- Koblingskredslgbene ma ikke overbelastes. Den maksimale belastning pr. tilslutning beskrives naermere i denne vejledning.

- Ved tilslutning af bilens kabelledningsseet bgr du forvisse dig om, at tilslutningerne er ordentligt fastgjort.

- Reklamationer og krav, der rejses pa baggrund af usagkyndig brug, vedligeholdelse og/eller installation vil ikke blive accepteret.

- Raak ter bescherming tegen brandwonden de motor, de radiateur en de uitlaatinstallatie niet aan, totdat deze afgekoeld zijn.

- Let erop dat u vdor de installatie de negatieve accukabel loskoppelt en dat deze niet in contact komt met de positieve accukabel.
- Overbelast de schakelcircuits niet. De maximale belastingen per aansluiting staan gespecificeerd in deze handleiding.

- Controleer bij het aansluiten van de voertuigkabelboom of de aansluitingen goed zijn bevestigd.

- Reclamaties en claims op grond van onvakkundig gebruik, onderhoud en/of installatie worden niet geaccepteerd.

SUZUKI GENUINE ACCESSORIES

87240621 8 10.07.2013



1
SUZUKI GENUINE ACCESSORIES

87240621 9 10.07.2013




SUZUKI GENUINE ACCESSORIES

87240621 10 10.07.2013




O W E O EOE|® W ® O e e @
BK | Black | Schwarz | Zwart Noir Nero Negro Preto Sort Svart Svart Musta Cerna Fekete | Czarmny | powpog | 4epHbin
RD | Red Rot Rood Rouge Rosso Rojo Vermelho Rod Rod Rod Punainen | Cervena Piros | Czerwony |KOKKIVOG| KpacHbIin
GN | Green Grin Groen Vert Verde Verde Verde Gren Gront Gron Vihrea Zelena Zold Zielony |mp&oivog 3eneHblit
OR |Orange | Orange Oranje Orange Arancione | Naranja Laranja Orange Orange Orange Oranssi | Oranzova | Narancs |Pomarariczowy lroptokaii|OpaHesbIin
VT | Violet Violett Violet Violet Viola Violeta Violeta Violet Fiolett Violett Violetti Fialova Ibolya | Fioletowy | BioAéTox rly:);‘:ép
PK | Pink Pink Paars Rose Rosa Pink Cor-de-Rosa| Pink Pink Rosa Pinkki RazZova | Rozsaszi] Rézowy MwB PO30BbIV
BL | Blue Blau Blauw Bleu Blu Azul Azul Bl Blatt Bl Sininen | Modra Kék Niebeski urme rony6oit
YL | Yellow Gelb Geel Jaune Giallo Amarillo Amarelo Gul Gult Gul Keltainen| Zluta Sérga Zolty KiTpivog | xénTbin
WT | White Weiss Wit Blanc Bianco Blanco Branco Hvid Hvitt Vit Valkoinen Bila Fehér Bialy AeUKOG 6enbiit
BR | Brown Braun Bruin Brun Marrone | Marrén Marrom Brun Brunt Brun Ruskea | Hnéda Barna | Brazowy | kogé KOPV";I“eBb'
GY | Grey Grau Grijs Gris Grigio Gris Cinzento Gra Gratt Gra Harmaa Seda Szurke Szary Ikp! cepbiit

7
SUZUKI GENUINE ACCESSORIES

87240621 11 10.07.2013




Socket connection Ymodoxn cuvdeos

Eonnbchon Ga o prde by ese Bnlasds wiykowogo

Aﬁaccio zoccolo P Tilsylutninggstikkontalgt ¢ Pmax

Caja de conexiones Aansluiting stekkerdoos
(4] 1 BK/WT 21w
(€] 2 wT 42w
@ 331 BR —
(1)) 4R BK/GN 21w
0 5/58-R GY/RD 52w
S 6/54 BK/RD 63W
O 7/58-L | GY/BK 520

Qo= — % 8 BK = 90500549

SUZUKI GENUINE ACCESSORIES

87240621 12 10.07.2013




SRTE—— @
14
R

16

87240621

13

SUZUKI GENUINE ACCESSORIES

10.07.2013



RD/YL

17

RD/YL

Wichtig!

Die Sicherungsbriicke darf nicht
in entgegengesetzter Richtung
eingebaut werden!

Important!

Please do not mount the fuse tap
and its wiring output in the other
direction!

Important!
Le fusible ne doit pas étre inséré
dans une autre direction.

Importante!

Il backup non deve essere
utilizzato in ponte della direzione
opposta!

jlmportante!
iEl puente de seguridad no debe
montarse en sentido contrario!

ZnuavTiko!

H yepupwtr| aopdAeia Sev
EMTPETMETAL V& TOTTOBETEI TN
oTnv avtiBetn katevBuvon!

Fontos!
A biztositéhidat nem szabad
beszerelni ellentétes iranyban!

UWAGA!

Bezpiecznikowy mostek nie moze
byc zaistalowany w odwrotnym
kierunku

Vigtigt!
Sikringsbroen ma ikke monteres i
modsat retning!

Belangrijk!

De zekeringbrug mag niet in
tegengestelde richting worden
gemonteerd!

19

87240621

14

SUZUKI GENUINE ACCESSORIES

10.07.2013



OPTION 1

- Vehicles with Factory-Fitted
PDC-System or without PDC-System!

- Fahrzeuge mit werkseitg eingebautem
PDC-System oder ohne PDC-System!

- Véhicules avec systéme d’aide au parking
montée en usine ou sans systeme
d’aide au parking!

- Veicoli con sensori di parcheggio montati
in fabbrica o senza sensori di parcheggio!

- Vehiculos con sistema de ayuda para
el aparcamiento instalada de fabrica o
sin sistema de ayuda para el aparcamiento!

- Ta oxfuaTa ue epy 00 Taola k& ToTTobeTnévo
PDC-System 11 xwpis PDC ZvoTtnua!l

- Jarmiivek gyarilag beszerelt parkolasse-
gitovel vagy parkolassegito nélkiil!

- Samochody z fabrycznie zamontowang
sygnalizacjg przy parkowaniu lub bez
sygnalizacji przy parkowaniu!

- Kgretgjer med eller uden indbygget
parkeringshjzlp!

ol

WT/RD

WT/BK

Wird nicht benétigt! Pas nécessaire! No es necesario!
- Voertuigen met af fabriek ingebouwde Not needed! Non necessaria! Aev xperdletai!
1 . - . ° . -
parkeerhulp of zonder parkeerhulp! Nem sziikséges! Er ikke pakraevet! Is niet nodig!
Nie Jest Wymagany!
O

OPTION 2 | Suzuki-PDC: 990E0-61M53-000

PyA

Back-up
light

Reverse

WT/BK

WT/RD =2

Reverse

£

WT/BK

3
WT/RD @
‘
WT/BK
2
WT/RD =2

21

87240621

15

SUZUKI GENUINE ACCESSORIES

10.07.2013



/I 1N

e

22 23

OPTIONAL

\ /
— -()- 7
90500748 i N \:‘ BD
e X R4 S.Z AR

26
SUZUKI GENUINE ACCESSORIES

10.07.2013

87240621 16



[OPTIONAL]

28

SUZUKI GENUINE ACCESSORIES

87240621

17

10.07.2013



